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QUESTION 1

An organization with two data centers is planning an active-active multi-site deployment of NSX-T Data Center.

The two data centers have this network connectivity configuration:

1.

Redundant 1Gbps links with 200 millisecond RTT

2.

Global load balancing is not being utilized

3.

1600 MTU

4,

vSphere 6.5U2

Which configuration prevents the use of an active-active architecture?

A. vSphere 6.7 is the minimum supported version for active-active on vSphere
B. 9000 MTU is required for active-active state replication

C. global load-balancing is required to support NSX Manager DNS namespace
D. RTT must be under 150 ms

Correct Answer: C

QUESTION 2
Refer to the exhibit.

Host transport nodes Edge transportnodes Edge Clusters ESXiBridge Clusters

I Node ID IP Adresses OSType NSXConfiguration ConfigurationState NodeStatus TransportZones  NSX Version

+ SAManagemen.. MoRefiD: .
¢ SACompute-01.. MoRefiD..

scsl 1173088 172201054,172.20.11.203.. ESXi670 NotConfigured Not Configured

1173.-112172.20.10.55,172.20.11.201.. BX670  NotConfigured Not Configured

The Node Status for all hosts in the SA-Compute-01 cluster Is shown as Not Configured. There are no
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VM connectivity issues reported on any of the ESXI transport nodes. Which service must be restarted to fix the issue?
A. nsx-mpa service on the ESXi transport nodes

B. nsx-policy-manager service on NSX Manager

C. nsx-mpa-api service on NSX Manager

D. cm-inventory service on NSX Manager

Correct Answer: D

QUESTION 3

Which CLI command would an administrator use to allow syslog on an ESXi transport node when using the esxcli
utility?

A. esxcli network firewall ruleset -e syslog

B. esxcli network firewall ruleset set -a -e false

C. esxcli network firewall ruleset set -r syslog -e true
D. esxcli network firewall ruleset set -r sysloq -e false
Correct Answer: C

Reference: https://docs.vmware.com/en/VMware-NSX-T-Data-Center/2.2/nsxt_22_troubleshoot.pdf

QUESTION 4

Refer to the exhibit.

VMware® NSX-T™

“VMware Identity Manager” is not accessible.
Only "Node-Local User” accounts can log in
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An NSX administrator has disabled VMware Identity Manager (vIDM) integration with NSX Manager. The administrator
is no longer able to log in to VMware NSX Manager and receives the error shown in the exhibit.

Which NSX CLI command on the NSX Manager would fix this issue?
A. clear auth-policy vidm disabled

B. clear auth-policy vidm stop

C. clear auth-policy vidm enabled

D. clear auth-policy vidm start

Correct Answer: C

Reference: http://virtualbrigade.com/vmware-identity-manager-is-not-accessible/

QUESTION 5

An NSX administrator is configuring the KVM hypervisor host as a transport node and wants to apply the Failover Order
as a NIC teaming policy.

Which profile allows the administrator to configure the NIC Teaming policy as Failover Order?
A. N-VDS Profile

B. Uplink Profile

C. Host Switch Profile

D. Transport Node Profile

Correct Answer: B

Reference: https://docs.vmware.com/en/VMware-NSX-T-Data-Center/2.1/com.vmware.nsxt.install.doc/
GUID-50FDFDFB-F660-4269-9503-39AE2BBA95B4.html

QUESTION 6

Which two components are involved in the logical switching and N-VDS configuration during ESXi transport node
installation? (Choose two.)

A. etherswitch
B. Open vSwitch
C. nsx-opsAgent
D. vdI2

E. nsx-vswitch

Correct Answer: CE
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QUESTION 7

Which NSX CLI command is used to change the authentication policy for local users?
A. set cli-timeout

B. set hardening-policy

C. get auth-policy minimum-password-length

D. set auth-policy

Correct Answer: C

Reference https://vdc-download.vmware.com/vmwb-repository/dcr-public/182d387c-

eaaB-4cdc-812d8cbh25812fefd/d09cad1f-553d-4c9e-a5b1-6544280eec25/NSX-T%20Command-Line%20Interface%
20Reference.html

QUESTION 8

Refer to the exhibit.

'9-"' LOAD BALANCERS  VIRTUAL SERVERS  SERVERPOOLS  PROFILES MONITORS « About
[ ADDLOAD DALANCER ] CaPanD ALL O_ AL
Haame Tae T Catewny Virtual Servers Status
y % LB Medium TlLA-OF ) & s () 7

Realization Errors: LB

Found errors in the request.
* Please refer to the related errors
for details.

The MEDIUM load balancer service is
not supported in edge node

* 1545¢194-1158-49c1-aB02-
45e6d2328471, the form factor of this
edee note is
MEDIUM_VIRTUAL_MACHINE

An administrator Is trying to configure a medium load balancer in a production environment, but is getting the error
message shown in the exhibit.

Which step must the administrator perform to remediate the problem?
A. Reduce the size of the virtual pool.

B. Restart the NSX Manager.
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C. Power-off the existing load balancer and change its size.
D. Place the Tier-1 Gateway in a large edge cluster and redeploy the load balancer.

Correct Answer: D

QUESTION 9

Which network tool cloud an administrator use on an ESXi 6.7 host to capture packets when troubleshooting
connectivity issues?

A. Wireshark

B. pktcap-uw

C. net-stats

D. tcpdump

Correct Answer: B

Explanation:

If you do when troubleshooting connectivity issues on your Virtualization environment. This post will help
you to capture Network traffic on ESXi host using pktcap-uw tool.

Reference: http://www.vmwarearena.com/how-to-capture-network-trafficpacket-on-esxi-hosts/

QUESTION 10

An NSX administrator would like to configure syslog for a KVM transport node.
Which host log files could be exported to a remote syslog server?

A. Ivar/log/vmware/nsx-syslog

B. /var/log/cfgAgent.log

C. Ivar/log/nsx-audit.log

D. /var/log/cloudnet/nsx-ccp.log

Correct Answer: A

QUESTION 11
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A user is assigned these two roles in NSX Manager:

1.

Load Balancer Administrator

2.

Network Engineer

What privileges does this user have in the system?

A. full access permissions on all networking services and full access permissions on load balancing features
B. read permissions on all networking services and read permissions on load balancing features

C. read permissions on all networking services and full access permissions on load balancing features

D. full access permissions on all networking services and read permissions on load balancing features

Correct Answer: A

QUESTION 12

A security administrator needs to configure a firewall rule based on the domain name of a specific application.
Which field in a distributed firewall rule does the administrator configure?

A. Policy

B. Profile

C. Service

D. Source

Correct Answer: B

Explanation:

On the Profile page, choose which profiles to apply the rule to. For most servers, you should apply the rule
to all three profiles, because servers are usually continually connected to a single network. For mobile
computers in domain environments, you typically need to apply firewall rules only to the Domain profile.

Reference: https://www.microsoftpressstore.com/articles/article.aspx?p=2224362andseqNum=2

QUESTION 13

What are three possible installation options for NSX Edge?
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A. Install NSX Edge on a bare-metal server.

B. Deploy NSX Edge using a QCOW2 image.

C. Install NSX Edge VM on KVM using an ISO image.
D. Deploy NSX Edge on KVM using ovftool.

E. Deploy NSX Edge VM on ESXi using OVA.

F. Install NSX Edge VM on ESXi using an ISO image.
Correct Answer: AEF

Reference: https://docs.vmware.com/en/VMware-NSX-T-Data-Center/2.1/com.vmware.nsxt.install.doc/
GUID-370D06E1-1BB6-4144-A654-7AF2542C3136.htm|

QUESTION 14

Which two built-in VMware tools will help identify the cause of packet loss on VLAN Segments? (Choose two.)
A. Flow Monitoring

B. Traceflow

C. Activity Monitoring

D. Live Flow

E. Packet Capture

Correct Answer: BE

QUESTION 15

Which CLI command is used to start the NSX Manager virtual machine in the KVM environment?
A. virsh start

B. virsh poweron

C. virsh poweron

D. virsh start

Correct Answer: A

Reference: https://docs.vmware.com/en/VMware-NSX-T-Data-Center/2.1/com.vmware.nsxt.install.doc/
GUID-928BAF6E-4684-43A0-8766-8FE191FE1FA7.html
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